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Read the following instructions ::arﬂfm% before you begin to answer the questions. This Booklet contains
qu ns in English as well as in Hindi.
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Before you start to answer the questions you must
check up this Booklet and ensure that it contains all the
pages (1 -20) and see that no page is missing or
repeated and that each page has the Test Form number
printed at the bottom of the page. If you find any defect
in this Booklet, you must get it replaced immediately.
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INSTRUCTIONS TO CANDIDATES
1. This Booklet contains 100 questions in all comprising the
following four parts .
Part A ‘General Intelligence and Reasoning (25 Questions)
Part B ‘General Knowledge and General Awareness (25 Questions)
Part C :Elementary Mathematics (25 Questions)
Part D :English / Hindi (25 Questions)

2. In questions set bilingually in English and Hindi, in case of|
discrepancy, the English version will prevail.

3. Parts A to C are compulsory for all the candidates and are
available bilingually. Candidates are required to attempt either
English or Hindi in Part D

4. All questions are compulsory and carry equal marks.

5. You will be supplied the Answer-Sheet separately by |

Invigilator.You must complete and code the details of Name, Roll

Number, Ticket Number and Test Form MNumber in the

Answer-Sheet carefully.You must also put your signature andl

Left-Hand thumb impression on the Answer-Sheet at the prescribed

place before you aclually start answering the. questions. These

instructions must be fully complied with, failing - which, Yyour

Answer-Sheel will not be evaluated.

6. Answers must be shown by complelely blackening the
comesponding circles on Side-Il of the Answer-Sheet against the
relevant question number by Black/Blue Ball-point Pen only.
Answers which are not shown by Black/Blue Ball-point|Pen will
not be awarded any mark. .

7. A machine will read the coded information in the OMR Answer-
Sheet. In case the information is incomplete or different from the
information given in the application form, such candidate will bul
awarded ‘ZERO' mark_

8. The Answer-Sheet must be handed over to the Invigilator before
you leave the Examination Hall, J

9. Failure to comply with any of the above instructions will

render a candidate liable fo such action/penalty as may be

deemed fit.

The manner in which the different questions are to be answered

has been explained at the back of this Booklet (Page No. 20),

which you should read carefully before actually answering the

questions.

Answer the questions as quickly and as carefully as you can.

Some questions may be difficult and others easy. Do not spend|

too much time on any question.

No rough work is to be done on the Answer-Sheet. Blank

spaces provided at various places in the question booklet

may be used for rough work.

“Mobile phones and wireless communication devices

completely banned in the examination halls/rooms.

Candidates are advised not to keep mobile phones/any other

wireless communication devices with them even in

off mode, in their own interest. Failing to comply with th

provision will be considered as using unfair means in the

examination and action will be taken against them including|
cancellation of their candidature.”
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Part A: General Intel e and Reasonin
- 7) Which of the answer figures can be formed using the
question figures.

1) From the given alternative words, select the word which e T S W ;S e
cannot be formed using the letters of the given word. ST | g
few v Rt F ¥ tar e gfaw o R aw

g & HEWT &1 FANT FH ALT FATAT S FHaT B 0 O d D

ADMINISTRATION

A) Strain 3). Tradition

C) Ration @ ituation
Question Nos.2 to 5
T HEIT2 # 50%

Directions / fader Select the related word / letter /
number from the given altematives.

fav arv faseyt A & GratT wse/ e/ FEar gl

2) WALLET : MONEY :: ENVELOPE : 7
AT : U :: TAHIET: 2

Al guMm /it ETTER raT

C) SU[T{IAS}E aEHE D) POSTOFFICE / 21

uQ c:}

137 B) 125
D) 525

4) CARD :JOKER :: BOOK : 7
IR : SR - T 7

A) WRITER / 3@ 3} WORDS / 32
C) COVER / 3mavor AGEwa

n ;}r W4 ".ﬂ "

5) AK

A) TE B) SJ
_9. CI D) BH G,_’;} /
6) If 50 minutes ago, it was 45 mim:ltna past four "o clock, \6

how many minutes is it until six "o clock?
AR 50 TAwe TEA 4 ToER 45 Awe & A oF aow
# fpaer Bwe #2

A) 35 @is

C) 45 D) 15




8) Direction: Two statements are given followed by two

conclusions/Assumptions, | and Il. You have to
consider the statement to be true, even if it seems at
variance from commonly known facts. You are (o

decide which of the given conclusions/assumptions

can definitely be drawn from given statement. Indicate
your answer.

B g aFaew Rar war & fGed s ar
frsss/mgare, | 3R 1| ReEe 2 & v @EaR
T & [ gedey a7 § a8 a§ WA, AT
g2t & @Bt gl glar &\ rewt Ao v &
B R av aFaey # & Fa-ar Affaa w7 & 767
Ersdragar AT ar Gwar 8 39e Ieaw F

Afdse Ffaa

Statements /JETET.
1. No teacher comes to the school on a bicycle.

& R wefre W RAeged @8 3mar g
2. Anand comes to the school on a bicycle.

Weee aEfhe W Regeg ar §
Conclusions / s

I Anand is not a teacher
e e e ¢
11 Anand is a student.

s, Rt ¥

A) Conclusion Il alone can B} Both conclusions cannot

be drawn. / hde TAsEY be drawn, / 21T forey
1 e g g |
C) Conclusion 1 alone can D) Both conclusions can be
be drawn. / Fao sy drawn. / /AT Ay
1 foemerar 8 IGERGRS
Question Nos.9 to 10
Y97 §8AT 9 # 10 7%

Directions / fAder A series is given, with one/two terms

missing. Choose the correct alternative from the given
ones that will complete the series.

v AT & T faA v/ ety g d | R
fRegl & & oar @8 AFeT giav st A& & R/ |

— g

9) 3,8,1V,15,17,22,24,7.7

A) 29,34 B) 29,32
2 D) 26, 28

10) A.Z.B.Y,C,X,D,W,E V,F,U,G,?
A) V B) S

&

11) A piece of paper is folded and cut as shown below in the
question figures. From the given answer figures, indicate
how it will appear when opened.

A o wERdl F RE@T FGER FEE H AT
FES TUT @S F 95 96 HE Iea¥ NHA AT
@ &am?

N B
=
| | ©
Lol (o] O
A’ o 0

-

12) Raghu starts from his house in his car and travels 8 km
towards the North, then 6 Km towards East then 10 Km
lowards his right, 4 Km towards his left, 10 Km towards
North and finally 4 Km towards his right, In which
direction is he now with reference to the starting point?

TG WU X F AU IR A ToA Y€ W ¢ AR
% Km 3eaT & Sar &, T 6 Km & & S #

IH% @1E 10 Km 10 Sram & 3R B 4 Km @@ S §
& z@F a1g 10 Km 3cal # R 3F & 4 Km a0
ST ] 3H WA 9% HUA g wUe ¥ e fEEr
72

B) North East/ 3ea0-9d
D) South / Ef&yoT

A) North / Fear
C) Aouth East / STRYOT-98

143} a certain code TEMPLE is written as METELP, How is
FAITHFUL written in that code?

et FIs A TEWLE@METELPW Sar &, ar
T #2 F FAITHFUL Ft &3 for@r smeem?

A) TAIFULFH
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Question Nos.14 to 16
¥ HFEAT 14 F16T%F

Directions / fad¥r: Find the odd word/letter/number from
the given alternatives:

e eear 7 & B /3 /EE ad
e

14)
A) square /a3t B) Triangle / Fsgst
C) Trapezium/TAeFE D) Cube/®H
15)
A) QNO @F“
)’ EBD D) YVX
16)
A) 631 B) 424
) 432 D) 460

17) Which will appear 3™ in the dictionary?

QI F HH H AraU T g g
A) colloquy ollision
C) collinear collegiate

—

18) Which figure represents the relation amongst rose, flower
and leaves.

frafai@a 7 ¥ Fia-4r 31efd e, B HR Iieadn

& dfrer gay g g
@
D)

BlE
Q|

A) B) C)

19) If the alphabets are numbers the sum of which 5 alphabets
is 51.

afE WeR H&r B ar ST & 5 3R S 6T 51
gram?

@@Euf B) AIOEJ:
) AOUEH D) AEQIT

20) The number of students in an art class is increasing month
after month as follows. Find the number of students in June
from the following information.

Month Jan Feb March April May June
No. of students | 2 4 7 11 T
FT T TF FeT # oEr A e |} A W
YR & @5 @ §| deaER, P aEen & IR
ST & ot # dear W Ao

s S, W A e A% S
e T EEETl . 2 4 79 157

A) 13 3) 4
C) 15

21) Find the missing numbecr from the given responses.

R e Rrwedt # & qea FEA W S
‘ 3. 4 5"
WANNVANAN
846 - 58 }

o
N "'.:'n.

c) 9

B) &
D) 6

22) From the given answer figures, select the one in which the

question figure is hidden/embedded.
& I8 IeeR WHTaAr # ¥ 3 3eeR HFia &
gfeT S v asfa @it ¥
N
\\.
A B o . D




23) A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in
the alternatives are represented by two classes of alphabets
as in two Matrices given below. The columns and rows of
Matrix | are numbered from 0to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be
represented first by its row and next by its column, e.g., *T’
can be represented by 03, 12 etc., and “M" can be
represented by 55, 67 ete. Similarly, you have to identify
the set for the word ‘RUDE"’.

U e e U HEA-HAE qEN adAr T g,
a‘\wf&'ﬁrﬁﬂ##fﬂhmﬁﬁmmﬂ
ﬁm#mmmwmﬁﬁmﬂm
mﬁww?a‘lﬂrﬁsmfmwﬁrmm‘i#m
Wlﬂ?mmmﬁmum U
mmnﬁsm s:rawm’r#mmaﬂ
Qﬁmmmmﬁmmmm
ST W ¥| 3EEROT & A T & 03, |1311ﬁ:m
QWmmtm*M"ﬁhsﬁ*m.mm
Zefrar S wHar g s E ¥ IO = F R
oeg ‘RUDE’ & OT ®Hg &' ygg=aT g

MATRIX I MATRIX 11
S 01]234 is 6789
0BDETO  smMUILRsg (gL PP
1DE/TOB .6U LMRrj_? 3
2EBODT 7 1MRUL
3 TOBE/D '8 LRUIM
AOTIPBE 9 RI1L'M U
9,99 34, 11 j 77, 56,02, 01
C) 95,87, 42,12 D) 56,65,10, 33

24) Which answer figure will complete the pattern in the

question figure?
i #@ 3R Ffa v wgfa F yfawT & @
,:'r L %

O

D
G
O

25) In the question, if a mirror is placed on the line AB then

which of the answer figures is the right image of the given
figure?
A & AT adur #r AB I@T 9X TE@T FTET £ A Wi

& 3 WFT & 715 IFETS F wer wiafara geie

N A
D —
-
]
__.ﬁ
—
B
| . ————— Iq— -
:__________|.1_._.._.__.._. ———
| ¥—m— | | ———— S — S —
— |-——|‘———+ —
| || e— , '
A) B) (E}[ D)

F 1
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e and General
Awareness
1 ) o M 1 - 1 o MR 1 G 6 KA
26) Which among the following countries was the first to give
women the right to vote?

fafaa # ¥ 5 & o advun Aot &
Aot =ar

A) 1celand / 3TN
wZealand / #gaiTels

Part B: Gen

B) Us.A./ @R
D) India/ sma

27) A very hot and dry local wind blowing across North Indian
plains in summer is:

NG & Iea-aRAT JorE A dg arelr scafte
TH U U T gart B = Fea §7

(ko5

A) foehn / e
C) mistral / P D} et stream / S¥T T
28) In India, National Youth day is celebrated on:
R # T Far Raw Fa@ #A1AT AT 67
January / | B) {st January / | S«T@dr
AT
C) 20th January / 20 D) 30th January / 30
SeAadr STadr
29) The method that cannot be used for removing permanent
hardness of water is:
qreT T TUTET FORAT I &L el & [oI¢ @iel AT
fafer & g2 i &R s wsar?

A) adding causticsoda / B distillation / 3TRTEe
Hirece AEr A

C) boiling / FaTere D) adding sodium carbonate
| wfegs FEfAe

CGIGH

30) Who is the woman Boxer to win Silver medal in London
Olympics of 2012:

s HefUs 2012 # g v B Afger
HFharsT o Siar?

A) Nicola Adams / ﬁ'ﬁﬂﬂ'l’ar}' Kom / &% &i#

UsHe
C) kaTie Taylor | &7 & D) Natasha Jonas / Framam
TR - A

31) Wha propounded the dynamic theory of profit?
TAH & TcgicHs [Had & gfaues feasr fear

A) Knight | AT B) Walker / @@
C) Hawley [/ 13 o lark | FATH

32) The second largest continent of the world is:

fava &1 @ ey @31 AgredT FiA-1 §7

-
A) North America / g Bl-asia / ofmm
WATERT

C) Antarctica /| HTTRICHT D) Africa / 3RreRT

33) Population census is taken onee in:

mﬁmﬁa&ﬁn;ﬁmﬁmm

yeamfs-aﬁ/

years / 10 a9

B) 15 years / 15 @9
D) every year | 9faay

34) The nuclear reaction in which the mass 1s converted into
energy is called:

39 AR gfafear #F 741 Fga ¢ w9 geaae
391 # qoTe g1 SATer 87

B) exothermic / waaY
ufiw

D) exo ergic / warE
ufores

A) endo thermic / U8
uff s
C) endo ergic / 2 oSt




35) A person with blood group ‘O’ can receive blood
transfusion from persons with blood groups-

W GAE 0’ e ufET B W a SE F
J &S & GHar 7

A) only / %ael O
C) Dand AB/O 3T AB

B) A.Bonly/ ¥a A, B

D) A.Band0/ A, B3R
0

-

36) Which Mauryan ruler accompanied Bhadra Bahu to
Shravanabelagola?

il ¥ A s HE 9E F Y HFOT aF T AT
€7

A) Ashoka/ 319N
C) Dashratha / ZRY

B) Bindusara/ RigER

D) Chmmw

37) Heavy grey coloured clouds which are responsible for rains
are called:

O e gl et B FOT FEa § S a6 w87

= A
C) cumulus / Fardy &

B) nimbus / THT ASAH

D) cirrus / T HY

38) An amphoteric substance acts as:
wrpRfE e RFw v & BRar s 87

th an acid and a base B) Base / 81X

| 3FFF HX &N A
C) None of the options / D) Acid / 35w
ooy RAFear A F
i i
39) The first PM who had resigned without attending

Parliament session was-

T TUR TS BT ¥ SR gue 97 A

sufeus g e & crer 97 & far ur?

A) smt Indira Gandhi / B) Lal Bahadur Shastri /

@i‘mﬂiﬁr o JBTgT AT
Singh / TROT @Egji[}mai / AR
e &g

40) The “Continent of Contrasts” is:-

“Hifeede HE Fieges” &Y Fga 87

B) Australia / 3EETorT
D) Asia / ufdrm

A) Africa | 3BT
C) Antarctica / 3eTdfE®T

41) Under the Constitution, public health and sanitation and
hospitals and dispensaries fall in the:

wfiu & o TR U9 TEesd auT A )
stwerery few g & ara &7 '

A) Concurrent list/ GFadr  B) State list w
'\‘E‘-ﬂ' i

C) Notlist/ fwely w=r A
el

D) Cenral dist ! Fg |

42) The group of countries that are usually referted to as the ™
Baltic countries”™ consist of;

Bre & F grEgar “difeesd & FEl Adl §,

IAF §AE A FiE-alA ¥ oy uifAe 87
@smnia, Latvia and B) Sweden, Finland and
ALithuania Estonia
vEeiferar, arataan wga, ferels 3R
Hir eryganfan vER T
C) Poland, Belarus and D) Denmark, Poland and
Lithuania Latvia
grelE, dareg 3T AT, UelE 3R
fergsnfaar CIGIGE]
43) The first electronic digital computer contained the
following:
g saEciae Ried el # Rwafad & |
- ur?
A) Transistor | EITSIFeL B) Electronic valves /

goagiied ared

C) Vaccum wbes / &g bjfﬂ?;ﬂfﬂuﬂﬂr memory
/ Y dEweT AR
50




44) Who among the following was the Viceroy of India when
the mutiny of 1857 took place?

1857 ¥ T8 ¥ HY SR FT TEET
frfla & ¥ i ar?

A) Lytton / Torgs
©) Dalhousie/ ECGHL

B) Minto/ B
(0 aving / ¥t

45) The Ramakrishna Mission was founded by:
RS A & FurgEr R @ 9

A) Raja Rammohan Rai / B) Dayananda Sarasvati /

ST THAARA TG ZgTee |IEar
ami Vivekananda / D) Iswar Chandra
P Sa— Vidyasagar | $¥aT <o
fae@m R

46) Which of the following is NOT an aerosol?

frfaf@a & ¥ w2 e J38 87
A) fog | HrET B) cloud / @
C) smoke / &3 u::l | Fras

47) Which revolution was started by the Government of India
to increase the milk output.

ZIY 3eUEA @9 & [T HRA SR ZaRT HieT-H
ﬁﬂ%gﬁﬂﬂé‘?

= Revulunw B) Green Revolution /

Dl Yellow Revolution /
drelr wifa

C) Blue Revolution / Hiel
Hita

48) Which is not a central problem of an economy?
Iemaey f AT wwEr FEeld 7 ¥ =L

el &7

K( For whom to produce? / B) How to maximise private
S e profit? / TSl S8 &Y
AT 22 HiwaH

87

D) How to produce? /
IeUTe FU FE 87

C) What to produce? /
3EAEA AT FIAT 872

49) Louis Pasteur discovered:
TS TER A FEH @A H7
A) penicillin ¢ FaTRT B) polio Vaceine / Yferar
Faf: 3

D) jnsulin/ S@f=

firabies Vaccing /

T &1t

50) South Africa’s first black president and anti-apartheid icon
Nelson Mandela died on:

ZfEor 3nfeT ¥ wue 3naq aegufa 3 Tl
AR ISR Aoud ASAT B A F 557

A) December 2, 2013
2 feHay, 2013

B) December 6, 2014
6 feHeET, 2014

C) December 9, 2014 D) ber 5, 2013
9 fewaT 2014 5 fewey, 2013

5o




Part C: Elemen athematics

T———

51) The time required for a boy to travel along the external and
internal boundaries of a circular path are in the ratio 20 :
19, If the width of the path be 5 metres, the internal
diameter is:
UF 7% F Rl e gy #ir el v s
ARGERT & WY g A 20: 19 F FGT F AT

mhuﬁ:waﬁrmsmta‘rmﬂ#
&g fraeT 87 7P
Y //"

t \a

A) 195 metres / #HeT B) 192 metres / Hrex
C) 190 metres / Hrex D) 180 metres / Hrex

52) A-man rows 750 m in 600 seconds against the stream and
returns in 7"/2 minutes. Its rowing speed in still water is
(in Km/hr).
ﬁﬂﬁﬂhjﬂ-ﬂsﬁﬂmﬂnﬁﬁ ferem #/ 750
mmmgmﬂzmﬂmmﬁ

oM T A I Al T I ( m:ih
Rretr g ____,_._.\/,6“""‘3‘ .
1Se
A) 5.75 By 3 7/l
C) 5.5 / D) 5.25

53) Ram bought a bike for ¥ 60,000, He paid T 10000 cash
down and the rest at the end of 2 years at 15% simple
interest. How much more did he pay as simple interest?

ITF A T60,000 F UH GBH TSN 3G T 10000
AFe T fomar AR AW UM F 2 I F ag
15% ®TYROT OIS 9T ¥Tarer f&han SuRoT s &

w7 38 fFaar st HTAT 9317
A) T 25,000 @ﬁ,ﬂﬂﬂ
C) 250,000 D) 235,000 /{1
(oo ,lg%

54) If T 510 be divided among A, B, C in such a way that A
g:tszfa of what B gets and B gets 4 ot what C gets then
their shares are respectively-

afe T 510 ﬂi’l'AkB C & da 3w yer faanfoe
ﬁmmﬁiﬁﬁ}ﬁﬁaﬁaﬁmm% ¥
T e B @Y C #) PR Ay w9t @ 1:’4

T A A 399 9 FA: Faar gem?

A) T 150,300, T 60 B) T60, T 00, T 360

C) T150,T 240, T 120 D) 7120, % 2400 7 150

55) Six friends have an average height o 067 cms. A boy with
height 162 ¢m leaves the group. Find the new average

height.
GE areqar &1 rag J9% 167 cm & 162 em AT

AT UF F@sHl IH GHAE & TaT Far g A3 e

ST A R f (7
A) 167 cm lﬁE em
C) 169 an D) 166.cm 5—/’
Question Nos.56 to 57
¥ §&7 56 & 57 aF

Directions / fAd#" The following pie-chart shows the

market share of four companies S, T, U and V. Total market
is worth ¥ 72 crores. Study the pie-chart and answer the
questions.

A=af@a ge-ard # ax Fufagt . 1. U Ay &
TSR AW AT T F| T TAR T 72 FNT F B

UIE-91E T HeGIA Hifow AR 9w F 3eaw v

((c L



56) The difference of market shares of companies V and U 1s?
Fafadt vt u & T AT 7 fegen daT 87

60) The sum of all natural numbers from 75 to 97 1s:
75897 g $r wlr s dearsdt & der Far

2+ 94
' g7 g2 +8u4 g6 &+ 90 +rL =11
. 8 +Qo4
A) 1958 |5y 7 at g
€) 6 Cores | T3 D) 9 Cores / w1 C) 1798 (L \S .,-Zg'i;

61) The sum of two positive numbers is 20% of the sum of ¢

. ST) The company having maximum market share is ? their squares and 25% of the ditference of their squares. 1f

F=

HOFAH a9 AT G FIAT FA-HT §?

a5

58) A house worth T 1,50,000 is sold by X to Y at 5% profit.
Y sells the house back to X at 2% loss. Then in the entire
transaction:
¥1,50,000 #FG HT-UFH AHler X g@RT Y FI 5% TTH
P — ! -

O AT AT ] Y I AW @ a9d X FO2%

B) T
D) U

gife ¢ &9 &ar g W Eid 7 T Tty @

A) X losesT 1350 B) X gains T 4350
X @ T 1350 $r g X F T 4350 FT FH
8% g3

C) XlosesT 4350 D) X gains T 3150
X T T 4350 1 gl X @& T 3150 & AH

5% B3

59) The three angles of a triangle are in the ratio 3 : 4 : 5. Then
the angles are:

v e & AT FOT 3:4:5 F HATA A E, &
Fror Rraer 3T & &2 "

A) 600 459 759 B) 75° 60°,45°

@sﬂ, 60, 750

D) 609, 759, 45°

the numbers are X and Y then
X+Y is equal to-
}{2
21 UATCHS HEATHY &7 W97 3% F97 & AT &l
2% & AT Ia% AT F HAT FT 25% ¢ A

geaw X Hry §oar

X2 \h“’\l 4 é
O,
A) ! Bpz NN T
3 8
+C) 2 D) 1
9 4

62) What should be the least number of years in which the
simple interest on T 2600 at 6 2/4% will be an exact
number of rupees?

31 a§ @ FqHaR AT F4T gl e 2600 W

62/3% & T A WYRCT sgTeT v ARy FoAt Hr

TJUEY QT Hear g snwefr?
A) 4 B) 3
C) 5 D) 2

63) The amount of rice produced in square field of side 50m is
750K g. The amount of rice produced in a similar square
field of side 100m will be-

50 Hier Honal G UH R @a 7 750 R
aTaS FT I BT £ 100 #r gt aw 39 &
FeR W H Ic9e=1 arael @ AT Rrasr g

L

A) 2000Kg | T
C) 3000Kg / faFam

500 Kg / famam
D) 3500 Kg / fam




64) The average weight of 8 persons increases by 2.5Kg when

4

anew person comes in place of one of them weighing 65
Kg. The weight of the new person is-

8 =afFadr &1 g gaa 39 gAY 2.5 &ar &g

STl & oI 3998 ¥ 65 T a9 & % Fied &
TH W UF A7 sdiod AT S §| 79 Saod &1
aole fapaer 87

.'.‘____--‘
A) 76Kg | Taam B) 84kg / fora
@Sﬂgfﬁ?ﬂ! D) 76.5Kg / fFam

65) A seller gains 20% profit even after allowing 10%

discount. If the amount of profit on a TV set is T 750, then
the marked price of the TV set is:

us fasar 10% & @ & & a1 oY 20% HT H
FATar g afe &dr 9T ov @t Hr afr T7s0 § ar

&dr a9 @ e 75 T4 B2
A) T 5000 B) T 5500
C) T 4800 D) T5200

66) The average age of a husband and his wife was 23 vears at

A) 28.5 vears / ay

C) 2 vears [ Y

the time of their marmage. After five years they have a one
year old child. The average age of the family now 15-

& qfd-goet F1 HET g 39 @aw & gag 25
ay Y| 9fT a¥ & 41 IAH UF aY F Foar U7
ya giar & dwa 3y feae 872

B) 19 years / a9

D) 29.3 years / @

- r———

-

9 days. Each child takes twice the ime taken by a man to
finish the work. In how many days will 12 men finish the
same work?

sﬁaﬂrlzaﬂmﬁmmmgﬁa#{n
X B mﬁa—&m‘rmmmﬁmﬁ#rﬁ

frewt Rt & o R
A) 9 days / &# ysfﬁl?'l'
C) 13 days / Rer DY s days / fes

68) if x, y are rational numbers and 3- 411 =xmyy11,

I-2411
The value of x and y ar¢:

fE x,y IRAT F&gw § 3R 300 i g

B .!-']"
— a1 i

ar x HRy & AT FAT g

A x=-21. y=-11 Bl i--l y=-1¥
25 37 17 26

C) x=-137, ~13 D) x4, y=11
15 ';_ 13 17

and 2%. If the marked price of the scooter is T 18,000,
find 1ts net selling price.

aw fosf 7 wma Ao
A) T 15080.00 B) ¥ 15082.00
C) T 15082.20 D) T 15028.20
-

§ 1u gc- 0
¢ R A
o

-

67) 8 children and 12 men complete a certain piece of work in

e H AT GAT ST g 12 HEH 36 w5 A

69) A scooter is sold at three successive discounts of 10%, 5%

UF FHET 10%, 5% HIT 2% & e Hegwide T T
a7 STar & 9% TRel # 3 AEg T 18,000 ® At



EPEER Wiy MMERYFETRT R TRTCER T RN

70) Ritw purchased 2 1/2 dozens eggs at the rate of ¥ 20 per

dozen. She found that 6 eggs were rotten. She sold the
remaining eggs at the rate of ¥ 22 per dozen. Then her

profit or loss percent is:
R & 220 Wi oot & ey W 2 /2 goie 3@

@] 3u 2w B e 6 3% WY U & s AW
3% T2 v Eow fr W W A" Ru| 39 s
wierera &1sT 41 By 857

% profit / S

C) 10% profit / wwT

B) 10% loss / @1

D) 129 10ss / BIfeY

71) A 200 metres long train is running at a speed of 72 Km/hr.
How long will it take to cross 800m long bridge?

TF 200 HreX o oondr 72 e v & afa @
o BT 8] 800 A FF GF # UK FA H 39
fraer §Fg Faem?

B) 40second / ¥F3
D) spsecond / BFE

A) 60 second /| THS

@ﬂmﬂfﬁ!

72) A certain number of men can do a work in 40 days. If there
were § men more, it could be finished in 10 days less. How
many men were there initially?

T Ofed Uh HH 1 40 T A & d@Fa 8] T
8 =afaa 3y e Jw, Y 96 &7 10 Z9 :/
AT H W0 QY TFAT & I A F1H H oo e

zfea @ 97

D
A) 16 B) 4 ° R
c) 20 D) 30 @ < 5

73) The value of (75.8)2 ~ (35.8)2 is

40
(75.8)2 — (35.8)2 T AV 4T &7
40
Il.ﬁ B) 1216
C) 40 D) 160

.

74) A man allow a discount of 10% on a book whose marked

price is T 40. What is the cost price so that the profit is
20%?

U sfed UH QFas 9 forwe ifRd Ae T40E,
10% T TT &ar §| I TG Hed F4T g

e ame 20% #7817
A) T35 B) T40
C) T30 D) 245

75) If the radius of a circle is decreased by 10%, then the area
of the circle is decreased by:

gfe Frer gea & Bsr 10% e & S & e &

gare fhaar F8 8 Jree? 2 ﬂ‘ 7
A
A) 25% B) 18% L{E
C) 89% D) 19%
e B T
\ L
)~
(o2

Y o o
W)(I% 2 T3
\
“ *\'lf \
(@ 3 (60




Part D: English

Question Nos.76 to 78
Y7 §EAT 76 # 78 A%

Directions / fader Some parts of the sentences have
errors and some are correct. Find out which part of a
sentence has an error and blacken the circle
corresponding to the appropriate correct option. If a
sentence is free from error, blacken the circle
corresponding to “No Error” option in the Answer Sheet.

76) The camp beside ours has been built in 1966 by John’s
brother,

A) by John's brother
C) has been built in 1966

B) No error
D) The camp beside ours

77) 1have been waiting for you since two hours.
A) Ihave been waiting B) No error
C) since two hours D) for you

78) An idea was worth nothing if it has no champion.
A) No error B) Anidea
C) ifit has no champion D) was worth nothing

Question Nos.79 to B2
Y HEGT 79 & 82 aF

Directions / fader. Sentences are given with blanks to

be filled in with an appropriate word(s). Four alternatives
are suggested for each question. Choose the correct
alterative out of the four and indicate it by blackening
the appropriate circie in the Answer Sheet.

79) He has been staying in Delhi a long time,
A) from B) till
C) for D) since
80) Jones is a member of our
A) coup B) counter
C) council D) counsel

81) A man from our village has been nominated the
ruling party’s candidate for the post.

A) for
C) in

B) as
D) to

82) We get milk from the
A) daisy
C) diary

B) dailv
D) dairv

Question Nos.83 to 85
Y7 FE&AT 83 ¥ 85 %

Directions / @@ Choose the word opposite in

meaning to the given word and mark it in the Answer .
Sheet.

83) noisily
A) quietly B) clearly
C) loudl, D) distinctly
B4) beautiful
A) hountiful B) bhizarre
C) ugly D) unigue

85) admuration

A) contempt B) disaprove

C) blame D) despise
Question Nos.86 to 88
X §EIT 86 & 88 OF

Directions / fader Out of the four alternatives, choose

the one which can be substituted for the given
words/sentences and indicate it by blackening the
appropriate circle in the Answer Sheet.

86) One who pretends to be what he is not:
A) Turncoat B) Liar
C) Actor D) Hypoerite

87) To put two and two together:

A) Proud
C) Understand

B) Good friend
D) Selfish friend




88) A container for the ashes of a dead person:

A) Vase B) Vessel
C) Jug D) Um
Question Nos.B9 to 91

Y97 AT 89 91 9%

Directions / fader Out of the four alternatives, choose

the one which best expresses the meaning of the given
word and mark it in the Answer Sheet.

89) ENORMOUS
A) Warehouse B) Trivial
C) Immense D) Petty
90) DRIZZLE
A) Splash B) Trickle
C) Sprinkle D) Downpour
91) INEVITABLE

A) Undeniable
C) Unavoidable

B) Significant
D) Crucal

Question Nos.92 to 94
Y97 &7 92 ¥ 94 dF

Directions / A8 Four alternatives are given for the

Idiom/Phrase underiined in the sentence. Choose the
alternative which best expresses the meaning of the
Idiom/Phrase and mark it in the Answer Sheet,

92) His frequent journeys are telling upon his health.
A) affecting B) threatening
C) informing D) improving

93) My kith and kin congratulated me on my brilliant success.
A) colleagues
C) father and mother

B) niece and nephew
D) relatives

94) Television has become part and parcel of ours lives.

A) showy part
C) status symbol

B) unavoidable luxury
D) important part

Question Nos.95 to 97
Yo7 §&IT 95 # 97 A%

Directions / fader Four words are given in each

question, out of which only one word is correctly spelt.

Find the correctly spelt word and mark your answer in
the Answer Sheet.

95)
A) cumplacency B) complacency
C) complacensy D) complicency
96)
A) compulsorry B) compelsorv
C) compulsory D) compullsory
97)
A) enthusaism B) enthussiasm
C) enthusiasm D) entusiasm

Question Nos.98 to 100
Uy HFEIT 98 & 100 F&

Directions / & A sentence / a part of the sentence is

underiined. Below are given alternatives to the
underiined part which may improve the sentence.
Choose the correct alternative. In case no improvement
is needed choose “No Improvement”.

98) No cconomist can accurately foresee whether tax will go
up or down.

A) No improvement B) obviate
C) expect D) anticipate
99) Journalism and medicine would be two of his career
options.
A) might be B) No improvement
C) could be D) will be
100) One should keep their word.
A) his B) one's
C) No improvement D) everyone’s




b1 A e

Question Nos.76 to 78
Wi 76 T 18 %

Directions / fade: v v ersgt & gaig (gammrede orez)
& folv - g 3o faw v & 3fa fawey giav aur

I 913%T H AGaq6R FTr S
76) S
B) wore
HrFSF D) smrepde
M) sawg
A) aca B) =t ¥ w1 a4
( :. IETeE ) sgmmm
78) fea
0 B) gt &
wear D) Freufars

Question Nos.79 to 81
v H§&Ar 79 & 81 %

Directions / A3w: BU a1v g% FiFgmer & 60 0% 9ieq
&M s 3w ar-ar fReey v a1v @ 37T fddeq #
AT HIST HR 3e7- 35T A dg59R Fro7 o

) 5 ggr & &

A) arfe B) 3
(D ) s
80) ¥ amar & o w |

A) g B) wuw
Loy D)

81) S aERY @ AW g@aT @

A) gxeff B) yeras

C) fomgerd D) Rygad
Question Nos.B2 to 83
Yo7 897 82 ¥ 83 %

Directions / fader v a1v ggrant sk alwif@aat & sref
Faret & e ar-ar fReey Rr v @ viF & fav
39gFT e arelr AT AT HI Feae-9f3er # degar

A) #P @y @A ara B) oyt erw Ae Fe
C) argt & wm e w1 O} aua = s aren

Question Nos.B4 to B6
Yo7 FEIT 84 & B6 aF

Directions / fAder, f&U 710 ezl &1 3ugad @A
gaie & v aw-ar R{eew veafRg 2| 3t ey
F TAA FAT JUT Fea-afFF & FeaqaR FHa




s W R

85) goonr ")
Y J— B) goter A v s - (V) Fwe
©) i D) ar @) s % v s
) fiy N |
B
A) afve B) Far c) V) e D) o
o D) (V) FTgtar (V) Fsir
Question Nos.92 to 94
Quastfan Nos.87 to 91 Y97 FEIT 92 # 94 TF
¥ HSYT 87 & 91 T

Directions / fader: v arv aragt # Ry wyrat &) 3foa
%G1 G@RT QI & fAw ar- g faswey R v & 3y
R YA FUT S0 3% 7 FEGHT FAr

Directions / fader: 20 10 ysgedte # e et &1
3 eregt qanr gfd F fav gR- g fawey v o g
FTYHT [RFET JIAT FUT Ieer-URHT H AR FAT

\ 2) sRewTar & U wRAR 8T wifR|
e # woerar AR Rrwear a9 & o Bad d ard | | A) mg B) wemm
T Hwew AfER foReat & 3 Sere adr ¥ sud agur ) s D) Rregsma

FEAAT AT TR B AT H (1) FE e #3732l
81 safde B e we &l ¥, I PO w dam av A | | OO) FAAE S 0w @ vesw & way #
g A_(l) # Hewerar & g S ¥ 79 el o e ey & fear g

BraRRTEH & _(I) Y &, R shern A amedrd, | | A) FqEET | B) gedraor |
qEAAD_(Y)  AfFT I F 3R Fene s Edr E gy C) g | D) sfvenfda awor |
T HY IR T SN R FE AT A (V) o g A

) smraser @ o ¥

87
} A) g g | B) frrer g |
A o s 8) ) géer C) e g | o ——

C) (1) FrwemEr D) (1) fevsgroran
Question Nos.95 to 97
¥ §&T 95 # 91 a%

88) Directions / fader. v 7w aral # & govdf 32 & il
Al (ry aRoms B) (1) wRamor Fo 3T 8 T F [T s # 32 gt Jm\t.agwm
C) (IT) SATOT D) (IT) AT arel TR @let &1 FTer &4 I T H FE IR T A

'wiF I TE JTel I 3 AT @let H G TRE FTelT

89) i

A) () e B R

C) () wrfaeher D) am 3=




%) o ar BNy B AT R ¥ AT BrET O
STt W

A) gedr oy & aex Pww B) 3R o
HT

C) et & ey =y
96)

A) 3% o
C) g5 frard @iy

D) a%i gw e &

gH T A0, $O Fae @i 3T aaw wr o

B) && aww v
D) 3 amw ar

) onfeat &t 48 e geat & I & TR F @
2

A) gt & w6

C) wetterr av @

B) snfext # #&r fase
D) #¢ ofr =@

Question Nos.98 to 100
Yo7 H&4GT 98 & 100 9%

Directions / A& a0 a10 i arFal H va T1FT Y 8
3 e e & yg T Ft gAT 7T IeeR- 9T H

TGTHR FTell H1A0

98}

A) 3 o= F fav 3k
e @ gt § Ieor

gl
C) magma it a
2§ HTOT g

99)

A) Foar AY O # A
#r g A

C) oz Ay o 3= A
T H

B) a7 @w ik wer et
H 3= g

O) sz ga & ix qers &

100)




MANNER IN WHICH ANSWERS ARE TO BE GIVEN

Directions: Each question or incomplete statement is
followed by four aiternative suggested answers or
completions. In each case, you are required to select the
one that correctly answers the question or completes the
statement and blacken appropriate circle A, B, C or D by

Black/Blue Ball-point Pen against the question
concerned in the Answer-Sheetww.previouspapers.in

(For V.H. / Cerebral Palsy candidates corresponding
icircle will be blackened by the scribe.)

The following example illustrates the manner in which the
questions are required to be answered.

Example :
Question No. 'Q’" -

Out of the four words given below, three are alike in
some way and one is different. Find the ODD word:

(A) Girl
(B) Boy
(C) Women
(D) Chair
Explanation : In the above example, the correct answer

is 'Chair and this answer has been suggested at 'D.
Accordingly the answer is to be indicated by blackening

:'. - |the circle by Black/Blue Ball-point Pen in column 'D¥
- |against Question No. 'Q" in the manner indicated below:

- |Question No. 'Q'
® 60 0@

There is only one correct answer to each question. You
should blacken the circle of the appropriate column, viz.,
A, B, C or D. If you blacken more than one circle against
any one question, the answer will be treated as wrong.
Any change / correction in the responses or use of
correcting fluid is prohibited.

You are NOT required to mark your answers in this
Booklet. All answers must be indicated in the
Answer-Sheet only.

Feax a9 #y e

- yoE WA WYar Yol WYY HUSF F de 1R
Ieal ST FH FHYA T AC § | GAF axr A

o faredt uw @y geer & S W @ EE 3ER §
HUAT FUF A @ F AR e e A
IYYFT MEATHR T A, B, C or D &7 wafder dter
gige 95 & Frew =T g
(erafa / afee o=l 3Fdicart & oo @
Marer fafes garr & fFFar S )
A T v IERor @ TN @) @t @ 3eaT e
waHR R I § |
JGTEIT :
¥HE ¥ Q-
H for BT AR el A A $T Aed-gad € aur
ﬁﬁmﬁﬁwﬁrﬁlﬂ?mﬂrﬁﬂm
FITC -

(A) TT5hT

(B) AT

(C) Higa

(D) Tt
FUSEFTOr ;- FW F IEEAOT H WE Iea) "FE" § AR

g 3eat 'D' # gewwr v § | He: WE €'Q & wEe
FHoH 'D' & INIER T H Fer/Aren dfe dige W A

qoiear Ferm wiE Iea} A aars @A F saer
ST §

|9 wQ

® 6 0 e

Yeldd W @ $ad UH 8 §er oA § | gt

|swfae Siew g A B, CAT D F aiieeR @& &

FoT FET £ | A 39 B wE F A U @

U TTeHI W H HE Jr TS IR Toid JAA
ST | 3eay A Y off e @ SReew O WfEeT
FeqE 1 39T afoid ¥ |

28 QP & el NI Ieax iha 78 = ¢ |
3eav Fad Seav-afe 7 & € |
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